

CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-55830-677d7278cb0ea VERIFY.FTGS.US Date : January 07, 2025

	VENIFT.FT	03.03	• January 07, 2025		
Seller (Exporter) Healthy Green Life Corporation	Transport Ty Vessel	pe		Port of Loading LOS ANGELES	
43 Corporate Park Irvine CA USA	Destination (China	Destination Country China Export Date 2024-12-12 Import Permit Number N/A		Destination Port QINGDAO	
Consignee				ırrier	
Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China				Bill of Lading / AWB 401410672861	
	Owner or Age N/A	ent	Forwarding A N/A	Agent	
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Remarks Total: 518bales Total: 226.517mt				
Description (May include notes on Quantity, Item Number, Marks and Numb	ers Kind of Package	25)	Weight	Country of Origin	
Alfalfa Hay			22.78mt	United States	
Marks: TRHU7556412 52bales Alfalfa Hay Marks: EMCU8413456 52bales			22.444mt	United States	
Alfalfa Hay Marks: TGBU8623430 52bales			21.963mt	United States	
Alfalfa Hay Marks: EMCU8626030 50bales			22.789mt	United States	
Alfalfa Hay Marks: TXGU7806634 52bales			21.7mt	United States	
Alfalfa Hay Marks: TIIU4283860 52bales			23.333mt	United States	
Alfalfa Hay Marks: TXGU5585832 52bales			22.834mt	United States	
Name of Authorized Trade Association		 The above-mentioned goods orial applicable in the country(ies) to till -The information in this certificate accurate, true and complete. The Applicant undertakes to advice Certificate (or to whom the Certific of any inaccuracy, omission or child -The Applicant will maintain, and truth, accuracy and completeness -In consideration for the GICS issi 	ginate in the country(ies) speci rose goods. e and in any documents provid- ise GIC and any other person(s icate is provided to with the kn ange in such information, or in present upon request, such do o of this certificate and accom uance of this Certificate, the A connection with the issuance is made against GIC in connect	cumentation as is necessary to verify the panying documents. oplicant agrees to release, discharge and h of this certificate and to indemnify GIC in tion herewith.	



CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: GI-COO-55830-677d7278cb0ea VERIFY.FTGS.US Date: January 07, 2025

	ATT				
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De		Loading NGELES	
Irvine CA USA	Destination C China	ountry		Destination Port QINGDAO	
Consignee Inner Mongolia Shengdehetai Trading Co., LTD	Export Date 2024-12-12		Exporti N/A	Exporting Carrier N/A	
Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110	Import Permi N/A	t Number	Bill of L 40141	ading / AWI. 0672861	3
China	Owner or Agent N/A Forwarding Agent N/A				
Buyer (Importer) Inner Mongolia Shengdehetai Trading Co., LTD Room 302,3rd Floor,Jinchuan S&T Park, Jin'er Road,Chilechuan Dairy Dev.Zone, Tuzuo Banner, Hohhot, Inner Mongolia 010110 China	Remarks Total: 518ba Total: 226.57				
Description (May include notes on Quantity, Item Number, Marks and Numbers, K	Kind of Package	s.)	Weight		Country of Origin
Alfalfa Hay Marks: EISU8592863 52bales			23.043mt	U	nited States
Alfalfa Hay			22.897mt	U	nited States
Marks: EMCU8331173 52bales					
Alfalfa Hay			22.734mt	U	nited States
Marks: TGBU9958377 52bales					
======================================					
Name of Authorized Trade Association		The Applicant (or the Applicant on I			
		applicable in the country(ies) to the -The information in this certificate a	ose goods.		e and comply with the rules of origin Greater Irvine Chamber ("GIC") is
05/31/1979 05/31/1979 05/31/1979		of any inaccuracy, omission or char -The Applicant will maintain, and pr truth, accuracy and completeness of	ate is provided to with age in such information esent upon request, such this certificate and ance of this Certificate connection with the isso made against GIC in	n the knowledge of on, or in the origin such documentati accompanying d e, the Applicant a suance of this cer connection herev	of the Applicant) promptly in writing of goods. on as is necessary to verify the ocuments. grees to release, discharge and hold tificate and to indemnify GIC in
Authorized Signature Farhad Ghorbani Fard					

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE			Invoice No.	SD-202412012	
			Date:	11/27/24	
Shipper/Exporter:		Consignee:			
Healthy Green Life (•	INNER MONGOLIA SHENGDEHETAI TRADING CO., LTD			
1152 S Roughcut Dr		Room 302,3rd Floor,			
Casa Grande, AZ 85	194, USA	Park, Jin'er Road, Chilechuan			
		Dairy Dev.Zone,Tuzu			
		Banner,Hohhot,Inner	Mongolia		
Vessel:	EVER FULL	Contract No.:	SDHT-HGLC2024-10		
Voyage No.:	1145-013W(LINE:	Booking No.:	401410672861		
Shipping Line:	Evergreen	Country of Origin:	USA		
Port of Loading:	LOS ANGELES, CA	Discharge:	QINGDAO, China		
ETD:	12/12/24	ETA:	1/1/25		
Price Terms:	CIF				

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
EISU8592863	A1620504	Alfalfa Supremi	52	23.043	\$395.00	\$9,101.99
EMCU8331173	A1620503	Alfalfa Supremi	52	22.897	\$395.00	\$9,044.31
EMCU8413456	A1620558	Alfalfa Supremi	52	22.444	\$395.00	\$8,865.38
EMCU8626030	A1620552	Alfalfa Supremi	50	22.789	\$395.00	\$9,001.66
TGBU8623430	A1620556	Alfalfa Supremi	52	21.963	\$395.00	\$8,675.39
TGBU9958377	A1620730	Alfalfa Supremi	52	22.734	\$395.00	\$8,979.93
TIIU4283860	A1620501	Alfalfa Supremi	52	23.333	\$395.00	\$9,216.53
TRHU7556412	A1620662	Alfalfa Supremi	52	22.780	\$395.00	\$8,998.10
TXGU5585832	A1620505	Alfalfa Supremi	52	22.834	\$395.00	\$9,019.43
TXGU7806634	A1620551	Alfalfa Supremi	52	21.700	\$395.00	\$8,571.50
Total Value:		+	518	226.517		\$89,474.22

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE





2025

Booking Document - HayCloud.com

Healthy Green Life Corporation 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCIAL INVOICE			Invoice No.	SD-202412013	
COMMERCIA	Date:			12/8/24	
Shipper/Exporter:		Consignee:			
Healthy Green Life (•	INNER MONGOLIA SHENGDEHETAI TRADING CO., LTD			
1152 S Roughcut Dr		Room 302,3rd Floor,			
Casa Grande, AZ 85	194, USA	Park, Jin'er Road, Chilechuan			
		Dairy Dev.Zone,Tuzu Banner,Hohhot,Inner			
		Banner, Honnot, Inner			
Vessel:	EVER FULL	Contract No.:	SDHT-HGLC2024-10		
Voyage No.:	1145-013W	Booking No.:	401410673310		
Shipping Line:	Evergreen	Country of Origin:	USA		
Port of Loading:	LOS ANGELES, CA	Discharge:	QINGDAO, China		
ETD:	12/12/24	ETA:	1/1/25		
Price Terms:	CIF				

Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)
BSIU8403340	A1620671	Alfalfa Supremi	52	22.081	\$395.00	\$8,721.99
EGHU8364151	A1620678	Alfalfa Supremi	52	21.809	\$395.00	\$8,614.56
TGBU9963286	A1620506	Alfalfa Supremi	52	23.242	\$395.00	\$9,180.59
TIIU4029060	A1620729	Alfalfa Supremi	52	22.961	\$395.00	\$9,069.59
TIIU5071280	A1620727	Alfalfa Supremi	52	22.262	\$395.00	\$8,793.49
TLLU4145375	A1620724	Alfalfa Supremi	52	22.671	\$395.00	\$8,955.05
TLLU7652440	A1620677	Alfalfa Supremi	51	22.716	\$395.00	\$8,972.82
TXGU7390552	A1620680	Alfalfa Supremi	52	22.217	\$395.00	\$8,775.72
TXGU7487049	A1620728	Alfalfa Supremi	52	22.045	\$395.00	\$8,707.78
TXGU7523594	A1620672	Alfalfa Supremi	52	22.299	\$395.00	\$8,808.10
Total Value:	-		519	224.303		\$88,599.69

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

PACKING: FIT FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG

By Healthy Green Life Corporation

AUTHORIZED SIGNATURE





2025